Igualdades (F)

X+8=14+19

25+ 4=14+13

16 +15 =X+ 12

54+14=0+17

6+2=X+6

18+ 6=4+15

V+14=24+15

21+ ® =16+ 14

15+3=e6+7

25+ B =24+19

Halle los valores de cada incdgnita.

20+4=H+23

11+0=3+24

A+1=10+4

l6+6=¢+1

21+21=24+X

20+23=19+ +

25+V=24+12

104+24=[+10

8+1l=a+2

%+ 21=18 + 25
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Igualdades (F) Respuestas

X+8=14+19
X=25

25+ 4=14+13
=2

16 +15 =X+ 12
X=19

54+14=0+17
N=2

6+2=X+6
X=2

1846 =4+ 15
¢=9

V+14=24+15
V=25

21+ ® =16+ 14
®=9

15+3=e6+7
=11

25+ B =24+19
[ =18

Halle los valores de cada incdgnita.

20+4=H+ 23
m=1

11+0=3+24
N =16

A+1=10+4
A=13

l6+6=¢+1
¢=21

21+21=24+X
X=18

20+23=19+ +
& =24

25+V=24+12
V=11

10 4+ 24 =[] + 10
=24

8+11l=a+2
=17

%+ 21=18 + 25
% = 22
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